PRZEKROJE POPRZECZNE
Odcinek W3-W5
SKALA 1:100 Puions = 1,34 m?

Prage = 0,00 m?
km 0+000 Liuns= 3,20 m

g £ :
g

8|8 = 3|8

M 16016 e

c»a :_”g

km 0+048

zjazd bramowy

granica

Phsa drogowego
grodzerie
= Jezani
=

N——T : i

Pt = 1,22 2
Puas = 0,00 m2
km 0+072 . ) Luns=220m

§’ = 2|
5 g
Slg 164,58 Bl g b

skizyzowanie

Poow = 1,12 m?
Pragu = 0,00 m?
km 0+107 R L= 1,60 m

Jezani

i

3
zjazd bramowy
g8
Slg
)

km 0+127

—
"ogrod:
= Jezani
ES

Puyio =0,72 m?
P = 0,00 n?
km 0+176,50 Liuns=3,20 m

9
& z g
g H
H 8 s

s 3

25 161,60 8w

HH —— 5|8

5|8 J— o
= |




